SHSFE

ARITETE
Nae Al
= 2 ST
1 T
2 =
3 H
4 X
5 7K
BEET\ - FTMEZN - 1958\
SREE)—4 \—éﬂ%iﬂ 3:30LTHERE
6 /N RE.6FRAFKREISL
XTH13:20(2~4%F) 15:00(5-6%F)
AFNGERRL)
! = XTFR11:45(2~6%)
8 T
9 H
EHE<S (91 RRBas) I8 TiEEmLy))
10 B - 118IC2%HEH
12 7J< ’J \%Iﬁﬁ?jﬁlﬁﬁ?v ~ 6&( ES EE)
LEFEN-FERRAE BREETE6E
141 = (F254Y)
15 I
16 H
17 =
= Es ?7] FEINHEE (65F)
18 | X |ZESEE
19 7K
20| K |RERE
FESE - FRERKS PTARS
21 E|RBREGEB)
22 T
23 H
24 =
25 | X
26 7K
27 K
28 | & |HERHRE2
29 + (i) BEBFNDH
30 =

w5

5/17K)KKFE 3 - 4F(BRESF/\1YY)
5/19(&)KkFE - 2F (BREF/\ 1Y)
5/22(R)AENDTEFE




